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— =dloEXE 3,000,000& x16= 48,000
< 24,000
[ia 24,000
— 2ENE 1,000,000& «5& 5,000
< 2,500
e 2,500
JIEMEI T SENE I ) (HEAY) 100,000 100,000 0
301 Let2d = 100,000 100,000 0
12 J|EH2 & 2 100,000 100,000 0
OBl g &EHI 100,000
— SO0 EXS 3,000,000 *30= 90,000
— el s 2,000,000& «5& 10,000
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= 133,051
301 et A= 830,510 947,811 A 117,301
= 664,408
= 83,051
= 83,051
01 AR E & A 462 830,510 947,811 A 117,301
OJ)I=MEBELEZI =HSN 830,510
= 664,408
=} 83,051
= 83,051
403 XX SHHS K20 & 500,000 280,000 220,000
= 400,000
& 50,000
= 50,000
02 2| 2SO Ue 2= EAS Y 500,000 280,000 220,000
OJI=MeE8&da X =81 X 500,000
= 400,000
= 50,000
= 50,000
NASHES ST NELAMYE 60,000 68,000 A 8,000
= 18,000
= 42,000
402 BI2H X 20| M 60,000 68,000 A 8,000
o= 18,000
= 42,000
03 DI 2t EF A HI 60,000 68,000 A 8,000
OMASHES 5T NHESAY
4.,000,000& *x15= 60,000
= 18,000
= 42,000
HNASHES ST NEE=AS (XA 30,000 34,000 A 4,000
402 812t XHE0| ™ 30,000 34,000 A4 000
03 DI 2t EF A HI 30,000 34,000 A4 ,000
OMASHE T5F HESAY
2,000,000& *15= 30,000
MASHE 2HEZZ2 KNEAY 23,400 23,400 0
51 X3 23,400 23,400 0
01 2I2tES X2 23,400 23,400 0
OMASHES 2dUiE2s=2 N
13,000, 000! 3= *60% 23,400
BIEESZAWAH 120,000 60,000 60,000
= 60,000
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< 60,000
[ia 60,000
SHE ZOHQI =& DHEALEY 38,000 19,000 19,000
= 19,000
= 5,700
= 13,300
402 RIZ2HXt20l ™ 38,000 19,000 19,000
= 19,000
= 5,700
[ia 13,300
03 212t &AL S HI 38,000 19,000 19,000
Os0HE ZO0HeI=& JHEZALY
3,800,000& 10 38,000
= 19,000
= 5,700
[ia 13,300
= GANE el NIAMG 20,000 0 20,000
402 2I2H X201 M 20,000 0 20,000
03 212t &AL S HI 20,000 0 20,000
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sEZd & & S30A 195,890 1,000 194,890
sEIS & 3O 195,890 1,000 194,890
201 Let24d] 2,390 500 1,890
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O3z &Y 70,0003 x9H x33] 1,890
202 oddl 500 500 0
01 = LH o4 1l 500 500 0
Oodz & S0 HEFE sEHAH
50,0003 x1H 2«53 500
207 A& H| 193,000 0 193,000
01 289 193,000 0 193,000
OZ4+= 2N 28 89
193,000, 000& * 14! 193,000
HY2AHH (LA ) 26,996 34,176 AT,180
Jl=234l 26,996 34,176 AT,180




SN eI
HH: HHSYHY (AR
2

o
e Jl=3l (Sl & &)

SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
JlE&l 26,996 34,176 AT7,180
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— T2y sAacl 200,000 *43| 800
202 O4dl 6,000 12,000 A 6,000
01 = LH 4 Hi 6,000 12,000 A 6,000
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203 YR =&t 4,980 4,920 60
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